


∀𝑟 > 𝑅𝐵 𝑟 < 𝑅𝐵
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𝑟 = 1738 km < 𝑅𝐵 = 1748.2 km



 

  𝑉𝑟 𝑟, Ω = −
𝐺𝑀

𝑅𝑜
2 

𝑅𝑜
𝑟

𝑛+2

 

𝑁

𝑛,𝑚

𝑛 + 1  𝐶 𝑛,𝑚
𝑜 𝑟  𝑌 𝑛,𝑚 Ω  

 

          +
𝐺𝑀

𝑅𝑖
2 

𝑟

𝑅𝑖

𝑛−1

 

𝑁

𝑛,𝑚

𝑛 𝐶 𝑛,𝑚
𝑖 𝑟  𝑌 𝑛,𝑚 Ω  

 

 

 

  

 𝑉𝑟 𝑟, Ω = −
𝐺𝑀

𝑅2
 
𝑅

𝑟

𝑛+2

𝑛 + 1  𝐶 𝑛,𝑚 

𝑁

𝑛,𝑚

𝑌 𝑛,𝑚 Ω  

 

 

 𝑟  Ω
 𝐺𝑀
𝑌 𝑛,𝑚
𝐶 𝑛,𝑚 𝐶 𝑛,𝑚

𝑜 𝐶 𝑛,𝑚
𝑖

𝑅 𝑅𝑜 𝑅𝑖



 



 

  𝑉𝑟𝑟 𝑟, Ω =
𝐺𝑀

𝑅3
 
𝑅

𝑟

𝑛+3

𝑛 + 1 (𝑛 + 2) 𝐶 𝑛,𝑚 

𝑁

𝑛,𝑚

𝑌 𝑛,𝑚 Ω  

 

 

  𝑉𝑟𝑟 𝑟, Ω =
𝐺𝑀

𝑅𝑜
3 

𝑅𝑜
𝑟

𝑛+3

 

𝑁

𝑛,𝑚

𝑛 + 1 𝑛 + 2  𝐶 𝑛,𝑚
𝑜 𝑟  𝑌 𝑛,𝑚 Ω  

 

                    +
𝐺𝑀

𝑅𝑖
3 

𝑟

𝑅𝑖

𝑛−2

 

𝑁

𝑛,𝑚

𝑛 𝑛 − 1  𝐶 𝑛,𝑚
𝑖 𝑟  𝑌 𝑛,𝑚 Ω  

 

                    −
4𝜋𝐺𝑀

𝑅𝜚
3  𝜚 𝑛,𝑚 𝑟  𝑌

 
𝑛,𝑚 Ω

𝑁

𝑛,𝑚

 

 

 

  

 𝜚 𝑛,𝑚
𝑅𝜚



 



𝑟 < 𝑅𝐵
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